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I. Test 

	1. Выберите правильный вариант притяжательной формы существительного:
Astana is this … new capital.
A) Country.
B) Countrys’.
C) Countries.
D) Country’s.
E) Сountries’. 

	 2. Выберите эквивалент в пассивном залоге.
This company employs two hundred people.
A) Two hundred people were employed by this company. 
B) Two hundred people are employed by this company.
C) Two hundred people is employed by this company.
D) Two hundred people has been employed by this company.
E) Two hundred people are being employed by this company. 

	 3. Выберите правильный вариант модального глагола.
The fire spread through the building quickly but everybody ... .
A) managed escaping.
B) abled to escape.
C) can escape.
D) did can to escape.
E) was able to escape. 

	 4. Поставьте предложение в отрицательную форму:
I will answer all the questions.
A) I shall no answer all the questions.
B) I shall answering all the questions.
C) I will not answer all the questions.
D) I not answer all the questions.
E) I not shall answer all the questions. 

	 5. Определите название формы по приведенному примеру:
To have helped.
A) Gerund.
B) Perfect Infinitive Active.
C) Participle 2.
D) Participle 1.
E) Indefinite Infinitive Active. 

	 6. Образуйте новое слово от “accept“, употребив верный суффикс:
A) acceptic
B) acceptan
C) acceptal
D) acceptous
E) acceptable 

	 7. Выберите предложение с Past Participle:
A) It was snowing the whole day.
B) The house built in 1789 was the oldest building in the town.
C) The man standing at the door helped the old lady.
D) He is reading the book at this moment.
E) Seeing that he was late he took the taxi. 

	 8. Прочитайте текст и выполните задание после текста:
London parks are the most beautiful areas of the city. In the summer you can sit in St. James’s Park by the side of the lake and listen to the band playing music.
   Green Park is a different kind of park. It is a quiet, wooden place.
   Hyde Park was once part of a forest. Nowadays, Speakers’ Corner of the park is always a centre of activity. Sunday is the most popular day and you will usually find some people standing on their soap-boxes and making speeches.
   There is a boating lake, and skating in the winter if the ice is 10 centimetres thick.
   There is an open-air theatre where plays are put on in the summer, and a rose garden and a restaurant.
Ответьте на вопрос:
Where do the speakers usually stand making speeches?
A) At the boating lake.
B) In a wooden place.
C) In a rose garden.
D) On the soap-boxes.
E) At the open-air theatre. 

	 9. Дополните предложение:
The national emblem of Northern Ireland is the...
A) tulip
B) shamrock
C) thistle
D) daffodil
E) rose 
10. Найдите правильный вариант словосочетания:
”орфографическая ошибка “
A) unspelling.
B) inspelling.
C) imspelling.
D) disspellingt.
E) misspelling.



II.  Match the sentences and join  with  if
1. You lose your passport                    The alarm goes off
2. You get promoted                            I get out of breath
3. I drink coffee at night                       I can’t sleep
4. Someone breaks into  the house       You have to go to the police
5. The lift doesn’t work                         You get tired
6. You work late                                    Your salary goes up.
7.  My brother might fail his exam         But he can try it again
8. We may miss the train                         But we can catch the next one
9. It might rain                                         We can stay at home
10.  I go to Astana                                     I will see the House of Parliament

Example:  1. If you lose your passport, you have to go to the police.
2. _____________________________________________________ 

III.  Match the Russian words with the English


tiny part —                                                        
 to pollute —                                                      
rural area —                                                     
polluting agents —                                           
global scale —                                                 
acid rains —                                                     
overpopulation —                                          
to threaten —                                                 
to affect —                                                  
respiratory system —                                  
particulates —                                                    
solid particles —                                          
ray of sunlight —                                      
combustion —                                          
internal-combustion engine —                    
wood smoke —                                           
by-products —                                            
power plants —                                         
chemical compounds —                           
to undergo —                                           
fog —                                                        
carbon monoxide —                                        
nitrogen oxides —                                          
sulfur dioxide —                                              
dizzy —                                                        
odourless —                                                   
fossil fuels —                                           
gasoline —                                                    
to emit —                                                      
disastrous consequences —                         
greenhouse effect —                                   
to breathe —                                              
chemical fertilizers —                             
pesticide —                                                
plant —                                                      
insect —                                                    
extinct —                                                  
to persuade enterprises —


подвергаться воздействию
туман
угарный газ
окислы азота                                              
сернистый газ
головокружение
без запаха
органическое топлив                                                    
бензин
испускать, выбрасывать
гибельные последствия
парниковый эффект                                          
 дышать, вдыхать                              
 удобрения
пестицид 
растение
насекомое
исчезнуть, вымирать                              
зд. убедить п
Крошечная часть                              
загрязнять 
сельский район                                          
  загрязняющие компоненты 
глобальный масштаб 
кислотные дожди 
перенаселение 
угрожать 
воздействовать 
дыхательная система 
макрочастице 
твердые частицы
зд. солнечный свет 
сжигание, сгорание
  двигатель внутреннего сгорания
зд. сгорание древесины
побочные продукты 
силовые установки
зд. химические элементы

